# read the datato R

View(regw) # Actual sample data

.

IR Data: regw E\@

VI Status Agent |Exporter|Importer paci!
1 (1508 |mBctive 0 1 0
2 |1974 |mctive 0 0 1

32 1976 |mctive 0 14253 16463 2
4 (1376 |cancelled| © 352 347

5 |1977 |mctive 0 1276 1435 |
6 [1377 |cancelled| © 42 47
7 |1978 |mctive 1 2825 3319
8 [1378 |cancelled| 2 41 42
5 (1379 |mRctive 0 1816 2114
10 |1379 |cancelled| © 56 65
11 |1380 |Active B 1324 1525
12 |1380 |cancelled| 27 16 11
13 |1381 |Active 70 1136 1328
14 |1%81 |cancelled|214 18 20
15 |1%82 |mRctive 6 12759 1481
16 |1%82 |cancelled| 29 13 5
17 |1383 |mRctive 5 1537 1812
18 |1%83 |cancelled| 40 22 19
19 |1384 |ARctive 7 19359 2316
20 [1%84 |cancelled| 35 16 12

# R-codes used:
library(reshape)

regw. = melt(regw., id = c(1,2) , measured = c(3,4,5), na.rm = TRUE)
regw?2 = cast(regw., yr ~ Status + variable, sum)

(2]

m

View(regw?2)
#Output
R Data: reqw?2 E\@
vr Bctive Agent|Active Exporter|Active Importer|Cancelled Agent|Cancelled Exporter
1 |1%08 0 1 0 0 0
2 (1974 0 0 1 0 0
3 [1976 0 14253 16463 0 352
4 1977 0 1276 1435 0 42
5 (1578 1 2825 3319 2 41
& |1979 0 1816 2114 0 56
7 [1980 B8 1324 1525 27 16
8 |1981 70 1136 1328 214 18
9 |1982 6 1279 1481 29 13
10 |1983 9 1537 1812 40 22
11 |1984 7 1939 2316 35 16




